12.

In this question you must show all stages of your working.
Solutions relying entirely on calculator technology are not acceptable.
(a) Show that
cosecf — sinf = cosfcotd 0+ (180n)° neZ
3

(b) Hence, or otherwise, solve for 0 < x < 180°

cosecx — sinx = cosxcot(3x — 50°)
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Question 12 continued
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Question 12 continued
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Question 12 continued

>
XXX,
o%s

AEL
W B
SIS

%%
X

e
%

5
o0t
XX

%

SF
3
%%

XKL
X

9%

<
X5
u“ 4

L

X

L

o

5

%
X

4

O
XX
A

S

L

5

o9

&

%

X

=
35
£
K]
%
XS
X

Q0
o
=
e
3K

o

XX
X
X
s :"’
%

e
e %
RS

¢
]

N<T
R
ee%

09S

S
<

09383
5

%!

O

35S

X
SRR

<
X

<L

%
XX

b3k
oS
%!

|-

(<5
X

-
%

XXX

000;"
RRRRRKK

%5

(Total for Question 12 is 8 marks)
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